/
\\A@
N




=
(=)

Part

surface board

left side board

right side board

bottom board

middle side board

top—bottom straight board

middle straight board

OINO|O|DWIN|—~

back board

O

front straight board

—_
o

moving board

N
—_—

left door

—_
N

right door

N
w

left front drawer board

—
N

right front drawer board

N
(&)

right side drawer board

—_
(o)

left side drawer board

—_—
\'

drawer bottom board

N
oo

drawer bottom board

o
I\)I\)I\DNA—\—\—\OOP—‘N}—*L\D_\_\_\_\AS

S

NO Part Qty
A big three in one ET-15 | 27
B small three in one ET-10| &
O plug ®6%30 ‘_O
D runner 107 2
E screw M3. 5*12 16
F screw M4*14 32
G screw M3. 5%30 8
H straight hinge 4
| two in one shelf pin ¢6 | 32
L grub screw M4*15 kﬁ
K air net 960 4
L plastic pad ®5 m
M hardware foot $50%60 4

\

& | Lo




¢ oanjotrd

@)
= e
S
o
ol 2 en
1S O
[@p)
%\
P N

o

0c*S "gIN| OT-14

violv]g

1 oanjotd

¥ eanjyot1d

T %
= R P
5 & ]
U]A

%)
S O
@y}
%\
o —\|
S N
S @D A
S ]
(e}

D

¢ eanjotd




picture b5

picture 6

A9 ]CT3
7 & &
ET-15 | #6%*30
F [16 E[8[ 1132
Yo | & AN e | <
@50%60 | M4*14 10 M3. 512 P6
picture 7 picture 8 AMMHHHH\\\\\\\NHHHHHWV
L8
-
?5
F 16
o \
nge Zr__%vﬂ,m. WIN\_m
- //
M3. 5%12] M4*15




